Name: Math 234 Quiz 5
Section: 328 O 329 0 Oct 16, 2014

1. (10 pts) Assuming that the function
flz,y) =2 +zy+y*—3x-3y—-3

has a global minimum. Find the value of the minimum.
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2. (10 pts) Find the critical points of the function
fz,y,2) =2 +9y>+2° - 32> - 3y — 3.
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Bonus. (5 pts) Justify that the function f(z,y) in Problem 1 has a global minimum.

g (L)=29
{g’% (o= 1 wez C\A)VS'H\B— Un'gus Cp.,
gbﬂ (1= 2 this R,OC&( min 15 & {\ax/{' & %Lplpw( win

‘2'\()' &e\-. *%‘k &17 © ) gmgy‘je(g',u& 53> 0
So (L) 5 o Leesd min .




